Memoirs on Differential Equations and Mathematical Physics VOLUME 28, 2003, 1–12

Ravi P. Agarwal, Said R. Grace and Donal O'Regan

# OSCILLATION CRITERIA FOR SUBLINEAR AND SUPERLINEAR SECOND ORDER DIFFERENTIAL INCLUSIONS

**Abstract.** Oscillatory criteria are presented for second order differential inclusions. The results are new also in the single valued case.

# 2000 Mathematics Subject Classification. 34A60.

**Key words and phrases**: Second order differential inclusions, oscillatory solution, nonoscillatory solution.

**რეზიუმე.** ნაშრომში წარმოდგენილია მეორე რიგის დიფერენციალური ჩართვების რხევადობის კრიტერიუმები. შედეგები დიფერენციალური განტოლებე**გბისთვისაც ახალია**.

### 1. INTRODUCTION

In [1, 2] we initiated the study of nonoscillatory solutions to the differential inclusion

$$(a(t) y'(t))' \in F(t, y(t)) \text{ for a.e. } t \ge t_0 \ge 0.$$
 (1.1)

However to our knowledge, no oscillatory results are available in the literature for differential inclusions. This paper begins this study. As an added bonus the results of this paper are new even in the single values case i.e. in particular some of the results in [3–7] are extended and improved.

In this paper by a solution y to (1.1) we mean a  $y \in C[t_0, \infty)$  with  $a y' \in C[t_0, \infty)$  and  $(a y')' \in L^1_{loc}[t_0, \infty)$ . We assume throughout that (1.1) possesses such solutions. Recall a nontrivial solution of (1.1) is called oscillatory if it has arbitrarily large zeros, otherwise it is called nonoscillatory. Equation (1.1) is said to be oscillatory if all its solutions are oscillatory.

# 2. Differential Inclusions

In this section a variety of oscillation results will be presented for the differential inclusion

$$(a(t) y'(t))' \in F(t, y(t))$$
 for a.e.  $t \ge t_0 \ge 0;$  (2.1)

the function a is single valued and  $F: [t_0, \infty) \times \mathbf{R} \to 2^{\mathbf{R}}$  is a multifunction (here  $2^{\mathbf{R}}$  denotes the family of nonempty subsets of  $\mathbf{R}$ ).

Remark 2.1. The usual standard notation in inclusion theory is used here e.g.  $|F(t,u)| = \sup\{|v|: v \in F(t,u)\}$  and F(t,u) > 0 means w > 0 for each  $w \in F(t, u)$ .

The first few results in this section discuss the case when F has a particular sign. Both sublinear and superlinear results will be presented. Our first result is a theorem of superlinear type.

**Theorem 2.1.** Suppose the following conditions are satisfied:

$$a \in C([t_0, \infty), \mathbf{R}^+) \ (here \ \mathbf{R}^+ = (0, \infty)),$$
 (2.2)

$$\begin{cases} F(t,x) < 0 \ for \ (t,x) \in [t_0,\infty) \times (0,\infty) \ and \\ F(t,x) > 0 \ for \ (t,x) \in [t_0,\infty) \times (-\infty,0), \end{cases}$$
(2.3)

$$\int_{t_0}^{\infty} \frac{du}{a(u)} = \infty, \qquad (2.4)$$

 $\begin{array}{l} \exists q: [t_0,\infty) \to (0,\infty) \quad with \ q \in L^1_{\text{loc}}[t_0,\infty), \ \psi: \mathbf{R} \to \mathbf{R} \\ \text{continuous and nondecreasing with } x \ \psi(x) > 0 \quad \text{for } x \neq 0, \\ \text{and with } |F(t,x)| \geq q(t) \ \psi(x) \quad \text{for } (t,x) \in [t_0,\infty) \times (0,\infty) \\ \text{and } |F(t,x)| \geq -q(t) \ \psi(x) \quad \text{for } (t,x) \in [t_0,\infty) \times (-\infty,0), \end{array}$ (2.5)

$$nd |F(t,x)| \ge -q(t)\psi(x) \text{ for } (t,x) \in [t_0,\infty) \times (-\infty,0),$$

$$\int_{-\infty}^{\infty} \frac{du}{\psi(u)} < \infty \quad and \quad \int_{-\infty} \frac{du}{\left[-\psi(u)\right]} < \infty \tag{2.6}$$

Ravi P. Agarwal, Said R. Grace and Donal O'Regan

and

$$\int_{t_0}^{\infty} q(u) \int_{t_0}^{u} \frac{ds}{a(s)} du = \infty.$$
(2.7)

Then equation (2.1) is oscillatory.

*Proof.* Let y be a nonoscillatory solution of (2.1). Suppose first that y(t) > 0 for  $t \ge t_0$ . We first show

$$y'(t) > 0 \quad \text{for} \quad t > t_0.$$
 (2.8)

To see this first suppose there exists  $\mu > t_0$  with  $y'(\mu) < 0$ . Let

$$\tau(t) = (a(t) y'(t))'$$
 with  $\tau(t) \in F(t, y(t))$  and  $\tau \in L^1_{loc}[t_0, \infty)$ . (2.9)

From (2.3) we have  $(a(t) y'(t))' \leq 0$  for a.e.  $t \geq t_0$  and so

$$a(t) y'(t) \le a(\mu) y'(\mu) \quad \text{for} \quad t > \mu.$$

Now an integration from  $\mu$  to t  $(t > \mu)$  yields

$$y(t) \le y(\mu) + a(\mu) y'(\mu) \int_{\mu}^{t} \frac{du}{a(u)}.$$

From (2.4) we have immediately that

$$y(\mu) + a(\mu) y'(\mu) \int_{\mu}^{t} \frac{du}{a(u)} \to -\infty \text{ as } t \to \infty,$$

a contradiction. Thus  $y'(t) \ge 0$  for  $t > t_0$ . Next assume there exists  $\mu > t_0$  with  $y'(\mu) = 0$ . Then (2.3) implies (a(t) y'(t))' < 0 for a.e.  $t \ge t_0$ , so a(t) y'(t) < 0 for  $t > \mu$ , a contradiction. Thus (2.8) is true.

Fix 
$$x > t_0$$
 and integrate (2.9) from  $s$  ( $t_0 < s < x$ ) to  $x$  to obtain

$$y'(s) = \frac{a(x)}{a(s)}y'(x) + \frac{1}{a(s)}\int_{s}^{x} [-\tau(u)] \, du \ge \frac{1}{a(s)}\int_{s}^{x} [-\tau(u)] \, du.$$

This together with (2.3) and (2.5) gives

$$y'(s) \ge \frac{1}{a(s)} \int_s^x q(u) \,\psi(y(u)) \, du \quad \text{for} \quad s \in (t_0, x).$$

Divide by  $\psi(y(s))$  and integrate from  $t_0$  to x to obtain

$$\int_{t_0}^x \frac{y'(s)}{\psi(y(s))} \, ds \ge \int_{t_0}^x \int_s^x \frac{q(u)}{a(s)} \, \frac{\psi(y(u))}{\psi(y(s))} \, du \, ds$$

That is

$$\int_{y(t_0)}^{y(x)} \frac{du}{\psi(u)} \ge \int_{t_0}^x \int_{t_0}^u \frac{q(u)}{a(s)} \frac{\psi(y(u))}{\psi(y(s))} \, ds \, du.$$

From (2.8) and the fact that  $\psi$  is nondecreasing we have that

$$\int_{y(t_0)}^{y(x)} \frac{du}{\psi(u)} \ge \int_{t_0}^{x} q(u) \int_{t_0}^{u} \frac{ds}{a(s)} du.$$

As a result we have

$$\infty = \int_{t_0}^{\infty} q(u) \int_{t_0}^{u} \frac{ds}{a(s)} du \le \int_{y(t_0)}^{\infty} \frac{du}{\psi(u)} < \infty$$

a contradiction.

Next suppose y(t) > 0 for  $t \ge t_0$ . As in the first part, it is easy to check that

$$y'(t) < 0 \quad \text{for} \quad t > t_0.$$
 (2.10)

Fix  $x > t_0$  and integrate (2.9) from s ( $t_0 < s < x$ ) to x to obtain

$$-y'(s) = \frac{a(x)}{a(s)} [-y'(x)] + \frac{1}{a(s)} \int_s^x \tau(u) \, du \ge \frac{1}{a(s)} \int_s^x \tau(u) \, du$$
$$\ge -\frac{1}{a(s)} \int_s^x q(u) \, \psi(y(u)) \, du.$$

Divide by  $-\psi(y(s))$  (note  $\psi(x) < 0$  for x < 0) and integrate from  $t_0$  to x to obtain

$$\int_{y(t_0)}^{y(x)} \frac{du}{\psi(u)} \ge \int_{t_0}^x \int_{t_0}^u \frac{q(u)}{a(s)} \frac{\psi(y(u))}{\psi(y(s))} \, ds \, du.$$

Now (2.10),  $\psi$  nondecreasing and  $\psi(x) < 0$  for x < 0 implies

$$\int_{y(x)}^{y(t_0)} \frac{du}{[-\psi(u)]} \ge \int_{t_0}^x q(u) \int_{t_0}^u \frac{ds}{a(s)} du,$$

and we again obtain a contradiction by letting  $x \to \infty$ .

*Remark* 2.2. In Theorem 2.1, if (2.4) is not assumed, then (2.1) has no nonoscillatory solutions y which satisfy y(t) y'(t) > 0 for  $t > t_0$ .

Our next result is a theorem of sublinear type.

**Theorem 2.2.** Suppose (2.2) holds and assume the following conditions are satisfied:

$$\begin{cases} F(t,x) > 0 \ for \ (t,x) \in [t_0,\infty) \times (0,\infty) \ and \\ F(t,x) < 0 \ for \ (t,x) \in [t_0,\infty) \times (-\infty,0), \end{cases}$$
(2.11)

 $\exists q : [t_0, \infty) \to (0, \infty) \quad with \quad q \in L^1_{\text{loc}}[t_0, \infty), \quad \psi : \mathbf{R} \to \mathbf{R} \\ continuous \text{ and nonincreasing with } x \, \psi(x) > 0 \quad for \quad x \neq 0, \\ and \quad with \quad |F(t, x)| \ge q(t) \, \psi(x) \quad for \quad (t, x) \in [t_0, \infty) \times (0, \infty) \\ and \quad |F(t, x)| \ge -q(t) \, \psi(x) \quad for \quad (t, x) \in [t_0, \infty) \times (-\infty, 0), \end{cases}$ (2.12)

$$\int_{0} \frac{du}{\psi(u)} < \infty \quad and \quad \int^{0} \frac{du}{[-\psi(u)]} < \infty$$
(2.13)

and

$$\int_{t_1}^{\infty} q(u) \int_{t_1}^{u} \frac{ds}{a(s)} du = \infty \quad \text{for any} \quad t_1 \ge t_0.$$

$$(2.14)$$

Then (2.1) has no nonoscillatory solution y with y(t)y'(t) < 0 eventually.

*Proof.* Let y be a nonoscillatory solution of (2.1). Suppose first that y(t) > 0 for  $t \ge t_0$ , and assume y'(t) < 0 for  $t \ge t_1 \ge t_0$ . Let

$$\tau(t) = (a(t) y'(t))'$$
 with  $\tau(t) \in F(t, y(t))$  and  $\tau \in L^1_{loc}[t_0, \infty)$ . (2.15)

Fix  $x > t_1$  and integrate (2.15) from s ( $t_1 < s < x$ ) to x to obtain

$$-y'(s) = \frac{a(x)}{a(s)} \left[-y'(x)\right] + \frac{1}{a(s)} \int_s^x \tau(u) \, du \ge \frac{1}{a(s)} \int_s^x \tau(u) \, du,$$

and this together with (2.12) gives

$$-y'(s) \ge \frac{1}{a(s)} \int_{s}^{x} q(u) \psi(y(u)) du$$
 for  $s \in (t_1, x)$ .

Divide by  $\psi(y(s))$  and integrate from  $t_1$  to x to obtain (see the ideas in Theorem 2.1)

$$\int_{y(x)}^{y(t_1)} \frac{du}{\psi(u)} \ge \int_{t_1}^x \int_{t_1}^u \frac{q(u)}{a(s)} \frac{\psi(y(u))}{\psi(y(s))} \, ds \, du.$$

Now y'(t) < 0 for  $t \ge t_1$ , and the fact that  $\psi$  is nonincreasing yields

$$\int_{y(x)}^{y(t_1)} \frac{du}{\psi(u)} \ge \int_{t_1}^x q(u) \int_{t_1}^u \frac{ds}{a(s)} \, du.$$

That is

$$\int_{t_1}^x q(u) \, \int_{t_1}^u \frac{ds}{a(s)} \, du \le \int_0^{y(t_1)} \frac{du}{\psi(u)}.$$

Let  $x \to \infty$  to get

$$\infty = \int_{t_1}^{\infty} q(u) \int_{t_1}^{u} \frac{ds}{a(s)} du \le \int_{0}^{y(t_1)} \frac{du}{\psi(u)} < \infty,$$

a contradiction.

Now suppose y(t) < 0 for  $t \ge t_0$  and y'(t) > 0 for  $t \ge t_1 \ge t_0$ . Fix  $x > t_1$  and notice for  $s \in (t_1, x)$  that

$$y'(s) = \frac{a(x)}{a(s)} [y'(x)] + \frac{1}{a(s)} \int_{s}^{x} [-\tau(u)] du \ge \frac{1}{a(s)} \int_{s}^{x} [-\tau(u)] du$$
$$\ge -\frac{1}{a(s)} \int_{s}^{x} q(u) \psi(y(u)) du.$$

Divide by  $-\psi(y(s))$  (note  $\psi(x) < 0$  for x < 0) and integrate from  $t_1$  to x to obtain

$$\int_{y(x)}^{y(t_1)} \frac{du}{\psi(u)} \ge \int_{t_1}^x \int_{t_1}^u \frac{q(u)}{a(s)} \frac{\psi(y(u))}{\psi(y(s))} \, ds \, du.$$

Now y' > 0,  $\psi$  nonincreasing and  $\psi(x) < 0$  for x < 0 implies

$$\int_{y(t_1)}^{y(x)} \frac{du}{[-\psi(u)]} \ge \int_{t_1}^{x} q(u) \int_{t_1}^{u} \frac{ds}{a(s)} \, du.$$

Thus

$$\int_{t_1}^x q(u) \, \int_{t_1}^u \frac{ds}{a(s)} \, du \le \int_{y(t_1)}^0 \frac{du}{[-\psi(u)]}$$

and we again obtain a contradiction by letting  $x \to \infty$ .

In Theorem 2.2 if we assume (2.4) then we have the following result.

**Theorem 2.3.** Suppose (2.2), (2.4) and (2.11)–(2.14) hold. Then every bounded solution of (2.1) is oscillatory.

*Proof.* Let y be a bounded nonoscillatory solution of (2.1), and without loss of generality assume y(t) > 0 for  $t \ge t_0$ . We claim

$$y'(t) < 0 \quad \text{for} \quad t > t_0.$$
 (2.16)

To see this suppose there exists  $\mu > t_0$  with  $y'(\mu) > 0$ . Then  $(a(t) y'(t))' \ge 0$  for a.e.  $t \ge t_0$ , so  $y'(t) \ge \frac{a(\mu)}{a(t)} y'(\mu)$  for  $t > \mu$ . Thus

$$y(t) \ge y(\mu) + a(\mu) y'(\mu) \int_{\mu}^{t} \frac{du}{a(u)} \to \infty \text{ as } t \to \infty.$$

This contradicts the fact that y is bounded. As a result  $y'(t) \leq 0$  for  $t > t_0$ . Next assume there exists  $\mu > t_0$  with  $y'(\mu) = 0$ . Then (a(t) y'(t))' > 0 for a.e.  $t \geq t_0$  together with  $y'(\mu) = 0$  implies a(t) y'(t) > 0 for  $t > \mu$ , a contradiction. Thus (2.16) holds. Consequently y(t) y'(t) < 0 for  $t > t_0$ , which contradicts Theorem 2.2.

Next we present two results where F does not satisfy a sign change.

**Theorem 2.4.** Suppose (2.2) and (2.4) hold and assume the following conditions are satisfied:

$$\begin{cases} \exists q : [t_0, \infty) \to \mathbf{R} \quad with \quad q \in L^1_{\mathrm{loc}}[t_0, \infty), \ \psi : \mathbf{R} \to \mathbf{R} \\ continuous \quad with \quad x \psi(x) > 0 \quad for \quad x \neq 0, \quad and \quad with \\ F(t, x) \leq -q(t) \psi(x) \quad for \quad (t, x) \in [t_0, \infty) \times (0, \infty) \quad and \\ F(t, x) \geq -q(t) \psi(x) \quad for \quad (t, x) \in [t_0, \infty) \times (-\infty, 0), \\ \int_{-\infty}^{\infty} q(x) \, dx = \infty \end{cases}$$
(2.18)

$$\int q(x) \, dx \, = \, \infty \tag{2}$$

and

$$\psi'(x) \ge 0 \text{ for } x \ne 0.$$
 (2.19)

Then equation (2.1) is oscillatory.

*Proof.* Let y be a nonoscillatory solution of (2.1) with y(t) > 0 for  $t \ge t_0$ . Let

$$w(t) = \frac{a(t) y'(t)}{\psi(y(t))}$$
 for  $t \ge t_0$ . (2.20)

Also let

$$\tau(t) = (a(t) y'(t))'$$
 with  $\tau(t) \in F(t, y(t))$  and  $\tau \in L^1_{loc}[t_0, \infty)$ . (2.21)

7

Notice for  $t > t_0$  that

$$w'(t) = \frac{(a(t) y'(t))'}{\psi(y(t))} - \frac{\psi'(y(t)) w^2(t)}{a(t)} \le \frac{\tau(t)}{\psi(y(t))} \le -q(t).$$
(2.22)

Integrate (2.22) from  $t_0$  to t  $(t \ge t_0)$  to obtain

$$w(t) \le w(t_0) - \int_{t_0}^t q(s) \, ds.$$
 (2.23)

Now (2.18) and (2.23) guarantee that there exists  $t_1 \ge t_0$  with w(t) < 0 for  $t \ge t_1$ . That is y'(t) < 0 for  $t \ge t_1$ . Also (2.18) guarantees that there exists  $t_2 \ge t_1$  with  $\int_{t_1}^{t_2} q(s) ds = 0$  and  $\int_{t_1}^{t} q(s) ds > 0$  for  $t > t_2$ . Integrate (2.21) from  $t_2$  to t ( $t > t_2$ ) to obtain

$$\begin{aligned} a(t) y'(t) &= a(t_2) y'(t_2) + \int_{t_2}^t \tau(s) \, ds \le a(t_2) \, y'(t_2) - \int_{t_2}^t q(s) \, \psi(y(s)) \, ds \\ &= a(t_2) \, y'(t_2) - \psi(y(t)) \int_{t_2}^t q(s) \, ds + \int_{t_2}^t y'(s) \psi'(y(s)) \left( \int_{t_2}^s q(u) \, du \right) ds \\ &\le a(t_2) \, y'(t_2). \end{aligned}$$

Thus

$$y'(t) \le \frac{a(t_2) y'(t_2)}{a(t)}$$
 for  $t \ge t_2$ ,

 $\mathbf{SO}$ 

$$y(t) \le y(t_2) + a(t_2) y'(t_2) \int_{t_2}^t \frac{ds}{a(s)} \to -\infty \text{ as } t \to \infty,$$

a contradiction.

Next suppose y(t) < 0 for  $t \ge t_0$  and let w be as in (2.20) and  $\tau$  as in (2.21). Notice for  $t > t_0$  that

$$w'(t) \le \frac{\tau(t)}{\psi(y(t))} \le -q(t),$$
 (2.24)

since  $\psi(x) < 0$  for x < 0. Integrate (2.24) from  $t_0$  to t ( $t \ge t_0$ ) to obtain

$$w(t) \le w(t_0) - \int_{t_0}^t q(s) \, ds$$

Now there exists  $t_1 \ge t_0$  with w(t) < 0 for  $t \ge t_1$ , and so y'(t) > 0 for  $t \ge t_1$  since  $\psi(x) < 0$  for x < 0. Again choose  $t_2 \ge t_1$  with  $\int_{t_1}^t q(s) ds > 0$  for  $t > t_2$ . Integrate (2.21) from  $t_2$  to t ( $t > t_2$ ) to obtain

$$\begin{aligned} a(t) y'(t) &= a(t_2) y'(t_2) + \int_{t_2}^t \tau(s) \, ds \ge a(t_2) \, y'(t_2) - \int_{t_2}^t q(s) \, \psi(y(s)) \, ds \\ &= a(t_2) \, y'(t_2) - \psi(y(t)) \, \int_{t_2}^t q(s) \, ds + \int_{t_2}^t y'(s) \, \psi'(y(s)) \left( \int_{t_2}^s q(u) \, du \right) ds \\ &\ge a(t_2) \, y'(t_2), \end{aligned}$$

and so

$$y(t) \ge y(t_2) + a(t_2) y'(t_2) \int_{t_2}^t \frac{ds}{a(s)} \to \infty \quad \text{as} \quad t \to \infty,$$

a contradiction.

Remark 2.3. It is possible to remove condition (2.4) in Theorem 2.4 provided we assume (2.13) and

$$\int^{\infty} \frac{1}{a(s)} \int_{t_0}^s q(u) \, du \, ds = \infty.$$
(2.25)

To see this let y be a nonoscillatory solution of (2.1) and without loss of generality assume y(t) > 0 for  $t \ge t_0$ . Then (2.23) holds and we may choose  $t_1 \ge t_0$  with y'(t) < 0 for  $t \ge t_1$  and we may also choose  $t_2 \ge t_1$  with  $\int_{t_0}^t q(s) \, ds \ge 2 \, w(t_0)$  for  $t \ge t_2$ , so

$$w(t) \leq -\frac{1}{2} \int_{t_0}^t q(s) \, ds \text{ for } t \geq t_2.$$

That is

$$\frac{y'(t)}{\psi(y(t))} \le -\frac{1}{2 a(t)} \int_{t_0}^t q(s) \, ds \quad \text{for} \quad t \ge t_2,$$

so integration from  $t_2$  to t  $(t \ge t_2)$  yields

$$\int_{y(t_2)}^{y(t)} \frac{du}{\psi(u)} \le -\int_{t_2}^t \frac{1}{2\,a(s)} \int_{t_0}^s q(u)\,du\,ds.$$

Thus for  $t \ge t_2$  we have

$$\frac{1}{2} \int_{t_2}^t \frac{1}{a(s)} \int_{t_0}^s q(u) \, du \, ds \le \int_{y(t)}^{y(t_2)} \frac{du}{\psi(u)} \le \int_0^{y(t_2)} \frac{du}{\psi(u)}$$

and let  $t \to \infty$  to get a contradiction.

It is possible to remove condition (2.18), provided extra conditions are added, as we will see in our next result.

**Theorem 2.5.** Suppose (2.2), (2.4), (2.17) and (2.19) hold and in addition assume the following conditions are satisfied:

$$\int_{t_0}^{\infty} q(s) \, ds < \infty, \tag{2.26}$$

$$\liminf_{t \to \infty} \int_{T}^{t} q(s) \, ds > 0 \quad for \ large \quad T, \tag{2.27}$$

$$\int_{t_0}^{\infty} \frac{1}{a(s)} \int_s^{\infty} q(u) \, du \, ds = \infty \tag{2.28}$$

and

$$\int_{-\infty}^{\infty} \frac{du}{\psi(u)} < \infty \quad and \quad \int_{-\infty} \frac{du}{[-\psi(u)]} < \infty \tag{2.29}$$

Then equation (2.1) is oscillatory.

*Proof.* Let y be a nonoscillatory solution of (2.1) with y(t) > 0 for  $t \ge t_0$ . Let w be as in (2.20), and as in Theorem 2.4 we have

$$w(t) \le -q(t) \quad \text{for} \quad t \ge t_0. \tag{2.30}$$

Also let

$$\tau(t) = (a(t) y'(t))'$$
 with  $\tau(t) \in F(t, y(t))$  and  $\tau \in L^1_{\text{loc}}[t_0, \infty)$ . (2.31)

There are three cases to consider, either  $y'(t) \ge 0$  for  $t \ge t_0$ ,  $y'(t) \le 0$  for  $t \ge t_0$ , or y' oscillates.

Case (i).  $y'(t) \leq 0$  for  $t \geq t_0$ .

From (2.27) there exists  $t_1 \ge t_0$  and  $t_2 \ge t_1$  with  $\int_{t_1}^t q(x) dx > 0$  for  $t \ge t_2$ . Also from (2.30) we have

$$\int_{t_1}^t q(x) \, dx \le w(t_1) - w(t) \quad \text{for} \quad t \ge t_2.$$

If there exists  $\mu > t_2$  with  $y'(\mu) = 0$  then

$$0 < \int_{t_1}^{\mu} q(x) \, dx \le w(t_1) \le 0,$$

a contradiction. Thus y'(t) < 0 for  $t > t_2$ . Integrate (2.31) from  $t_2$  to t  $(t > t_2)$  to obtain (as in Theorem 2.4)

$$y'(t) \le \frac{a(t_2) y'(t_2)}{a(t)},$$

and so

$$y(t) \le y(t_2) + a(t_2) y'(t_2) \int_{t_2}^t \frac{ds}{a(s)} \to -\infty \text{ as } t \to \infty,$$

a contradiction.

Case (ii).  $y'(t) \ge 0$  for  $t \ge t_0$ . Now from (2.30) for  $s \ge t \ge t_0$  we have

$$\int_t^s q(x) \, dx \le w(t) - w(s) \le w(t).$$

As a result (letting  $s \to \infty$ ) we have

$$\int_t^\infty q(x) \, dx \le \frac{a(t) \, y'(t)}{\psi(y(t))} \quad \text{for} \quad t \ge t_0.$$

Divide by a and integrate from  $t_0$  to t ( $t < t_0$ ) to obtain

$$\int_{t_0}^t \frac{1}{a(s)} \int_s^\infty q(x) \, dx \, ds \le \int_{y(t_0)}^{y(t)} \frac{du}{\psi(u)} \le \int_{y(t_0)}^\infty \frac{du}{\psi(u)}.$$

Thus

$$\infty = \int_{t_0}^{\infty} \frac{1}{a(s)} \int_s^{\infty} q(x) \, dx \, ds \leq \int_{y(t_0)}^{\infty} \frac{du}{\psi(u)} < \infty,$$

a contradiction.

Case (iii). y' oscillates.

Then there exists a sequence  $\{T_n\}_1^\infty$  with  $\lim_{n\to\infty} T_n = \infty$  and  $y'(T_n) < 0$ . Choose N large enough so that

$$\liminf_{t\to\infty}\,\int_{T_N}^t q(s)\,ds\,>\,0.$$

Now integrate (2.30) from  $T_n$  to t ( $t > T_N$ ) to obtain

$$\frac{a(t)\,y'(t)}{\psi(y(t))} \le \frac{a(T_N)\,y'(T_N)}{\psi(y(T_N))} \,-\, \int_{T_N}^t q(s)\,ds,$$

 $\mathbf{SO}$ 

$$\limsup_{t \to \infty} \frac{a(t) y'(t)}{\psi(y(t))} \le \frac{a(T_N) y'(T_N)}{\psi(y(T_N))} + \limsup_{t \to \infty} \left( -\int_{T_N}^t q(s) \, ds \right) < 0.$$

This contradicts the fact that y' oscillates.

Next suppose y(t) < 0 for  $t \ge t_0$  and let w be as in (2.20) (so (2.30) holds, see Theorem 2.4) and  $\tau$  be as in (2.31). The same three cases need to be considered here.

Case (i).  $y'(t) \leq 0$  for  $t \geq t_0$ .

Now from (2.30) for  $s \ge t \ge t_0$  we have

$$\int_t^s q(x) \, dx \le w(t) - w(s) \le w(t),$$

since  $y' \leq 0$  and  $\psi(x) < 0$  for x > 0. Thus

$$\int_t^\infty q(x) \, dx \le \frac{a(t) \, y'(t)}{\psi(y(t))} \quad \text{for} \quad t \ge t_0,$$

so divide by a, integrate from  $t_0$  to t  $(t < t_0)$ , and let  $t \to \infty$  to obtain

$$\infty = \int_{t_0}^{\infty} \frac{1}{a(s)} \int_s^{\infty} q(x) \, dx \, ds \le \int_{-\infty}^{y(t_0)} \frac{du}{\psi(u)} < \infty,$$

a contradiction.

Case (ii).  $y'(t) \ge 0$  for  $t \ge t_0$ .

Now there exists  $t_1 \ge t_0$  and  $t_2 \ge t_1$  with  $\int_{t_1}^t q(x) dx > 0$  for  $t \ge t_2$ . Also from (2.30) we have

$$\int_{t_1}^t q(x) \, dx \le w(t_1) - w(t) \quad \text{for} \ t \ge t_2.$$

If there exists  $\mu > t_2$  with  $y'(\mu) = 0$  then

$$0 < \int_{t_1}^{\mu} q(x) \, dx \le w(t_1) \le 0,$$

since  $y' \ge 0$  and  $\psi(x) < 0$  for x < 0. Thus y'(t) > 0 for  $t > t_2$ . Integrate (2.31) from  $t_2$  to t  $(t > t_2)$  to obtain (as in Theorem 2.4)

$$y'(t) \ge \frac{a(t_2) y'(t_2)}{a(t)},$$

and so

$$y(t) \ge y(t_2) + a(t_2) y'(t_2) \int_{t_2}^t \frac{ds}{a(s)} \to \infty \text{ as } t \to \infty$$

a contradiction.

Case (iii). y' oscillates.

Then there exists a sequence  $\{T_n\}_1^\infty$  with  $\lim_{n\to\infty} T_n = \infty$  and  $y'(T_n) > 0$ . Choose N large enough so that

$$\liminf_{t\to\infty}\,\int_{T_N}^t q(s)\,ds\,>\,0.$$

Integrate (2.30) from  $T_n$  to t ( $t > T_N$ ), and take  $\limsup' s$  to obtain

$$\limsup_{t \to \infty} \frac{a(t) y'(t)}{\psi(y(t))} \le \frac{a(T_N) y'(T_N)}{\psi(y(T_N))} + \limsup_{t \to \infty} \left( -\int_{T_N}^t q(s) \, ds \right) < 0,$$

a contradiction.

*Remark* 2.4. It is easy to see that (2.27) can be replaced in Theorem 2.5 by

$$\liminf_{t \to \infty} \int_T^t q(s) \, ds \ge 0 \quad \text{for large} \quad T.$$

## References

- 1. R. P. AGARWAL, S. R. GRACE AND D. O'REGAN, On nonoscillatory solutions of differential inclusions. *Proc. Amer. Math. Soc.* (to appear).
- 2. R. P. AGARWAL, S. R. GRACE AND D. O'REGAN, Some nonoscillation criteria for inclusions. (To appear).
- L. H. ERBE, Q. K. KONG AND B. G. ZHANG, Oscillation theory for functional differential equations. *Marcel Dekker, New York*, 1995.
- J. R. GRAEF, S. M. RANKIN AND P. W. SPIKES, Oscillation theorems for perturbed nonlinear differential equations. J. Math. Anal. Appl. 65(1978), 375–390.
- I. V. KAMENEV, Oscillation of solutions of second order nonlinear equations with sign variable coefficients. *Differentsial'nye Uravneniya*, 6(1070), 1718–1721.
- T. KUSANO, H. ONOSE AND H. TOBE, On the oscillation of second order nonlinear ordinary differential equations. *Hiroshima Math. J.* 4(1974), 491–499.
- G. S. LADDE, V. LAKSHMIKANTHAM AND B. G. ZHANG, Oscillation theory of differential equations with deviating arguments. *Marcel Dekker, New York*, 1987.

### (Received 3.12.2001)

Authors' addresses:

Ravi P. Agarwal

Department of Mathematical Sciences, Florida Institute of Technology Melbourne, FL 32901–6975, U.S.A.

Said R. Grace

Department of Engineering Mathematics, Cairo University

Orman, Giza 12221, Egypt

Donal O'Regan

Department of Mathematics, National University of Ireland Galway, Ireland